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Algebra I; Chapter48 Review: 100 PL;;%IS
Problems 1-25 (4 points per problem) '
State whether the number below is prime or composite, 1f the number |
composite. determine its prime factorization. Use exponents in youl

final answer, if necessary.
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actor the expression below completelv (use prime factors only). Do not

use exponents in your final answer.
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Factor each polynomial expression below completely. If the polynomial

cannot ‘be factored using integers, write prime.
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4. 72q°+98r 5( J<-al- 44 5(0{,5)
A(apa®14qp?)  3L1Hs-Als AL 00
(3 9, ) 3 15(3-39) - 2k (3-35)

£

4.9(3(09|Q (4ar®) 5. (&” AS ) (75*|&t)

6 dxo-72x’+324x 1. -64z°+121p° .
LfX(X‘&*iEX“%D “(U‘—}zq-\&\p> _
-($22 -V p)l g2 P

® . Hlxa ‘




Algebra I; Chapter 10 Revic"s page 2
Factor each polvnomial ex oression below completely. If the polvnomial

| :Eg cannot be factored using integers5 write prime. ,
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Complete the following definitions.
pr_!mﬁ_

11.  Whole numbers that have only 1 and itself as factors are
Y S (2.words).

12. A ({ ly nomial (2 words) 1s a polynomial expression that
cammot be written as the product of two polynomials with integral
coefficients

13. A number that can be expressed as the square of a rational number is

14, Factored form: (OMNOWYO T 5 Wridlen 0w @ ovdud of
‘ ‘L d ‘i'f 5 " . f “_. 1 | W /Y -"_,! ‘ £ .

Solve the following word problems. Be sure to indicate a labeled ans;wer.
15.  Determine the area of a square that has a perimeter of (8x ~12) cm.

D= U4 A% 2)(ax -3)
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16.  The area of a circle is (9% > — 24x + 16) 7 square inches. What is the

radius of the circle? /3 hsi 1 i{a
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Deferlflline the solution set of the following quadratic equations. Be sure
to indicate all solutions.

17. 4n%*+9=120 18. 2w ?2=128
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19. 17r=3r" 20. 6r =r+12 21. x%+2x-35=0
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Determine all values of k so that the trinomial can be factored using

integers.
22. 2q°+kqg+18
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Factor each polynomial expression, if possible. If the expression cannot
be factored using integers, write prime.
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Factor each polynomial exr ression, if possible. If the expressio 0 CAnnof
e factored using inte ers, write prime.
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